a:=“..\..\Sci_Space\Weather\maxTbo.csv” e:=“..\..\Sci_Space\Weather\minTbo.csv”

b:=READCSV (a) f:==READCSV (e)

c:= foriel..rows(b)—l g:= foriel..rows(f)—l
forje0..3 forje0..3
c b g < f
i—1,j i, i—1,j 1,
return c return g

z:=match <“” , c(3>> w:=match <“” , g(3)>

rows (z) =1141
rows (c) =53753

rows (w) =2138
rows (g) =53648

nanmean (y , z) =l count <0
sum <+ 0

forieO..zO—l

count +—count+1
sum«—sum-+vy.
K3

forz e 1..rows(z)—1

if z —z 1>1

for 5 € (z,_1+1) .. (z,—l)

count «—count+1
sum<«—sum-+1y.
J

forz e (z
last (2)

+1) ..rows(y)—l

count «— count+1
sum-«—sum-+1y

return

count

nanmean <c(3> ,z> =27.627832

count+—0
sum <+ (0

pack (y ,z) =

nanmean <g(3) ) w> =12.946003



fori e 0..20—1

forje0..3

out —
count , j i,7

count «—count+1
forz e 1..rows(z)—1
if z -2z 1>1

for 5 € (z._1+1)..(z.—1)
forke0..3

out —y
count , k 7.k

count «— count+1

forie(z +1)..rows(y)—1

last (z)

forje0..3
”out —y

” count ,j i,

count +—count+1

return out
NoNanMazx := pack (c,z) NoNanMin :=pack (g,w)
Max :=histogram <4O ,INoNanM ax<3)> Min :=histogram <40 ,INoNanM in<3)>
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